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⇒ need to sample the signal at a rate of fs=- to recover it .
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fully ( modulo K ) determined by the ts and the cs.ie. , it
is fully determined by 2K parameters .

Q : can we take measurements of ✗ It) in the frequency
domain such that these (and hence ✗CHI can be recurved ?

If yes , how many measurements do we need to take ?
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and if so , what is the minimum sampling race needed ?

-
-

Theorem 5.1 (Landau , 1967) . To reconstruct stably , we need
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where D-(P) denotes the lower Deurhng density and
III is the total spectral occupancy .
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2. Slide the window oflenphh r from -as to is and
record the no

. of sapling points in P that land
inside the window , take the Mf across t .
Now that the result depends on r !
3. Take window length to infinity and compute the
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divide by r ⇒ fs 2 III
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known support set : fie support set in the frequency domain

EIi.IE
Iz

if spectral support set is not known ,
then we ane no

longer dealing with a recliner space !


